YIRS

Y5

HEZUES

44

H (LX)

Z5%; % J3 R HD
2022 4 {7 44 38 v b SR OIL BIE R 2B T T T

EHR =
EEET,

LA, 5 A 55k H C RIS IR S AR B 7R A R RS E AL E b,

2. (A PRAIUNT 8 A/ NEUE SR, T SE AR R e i B2 S 5 TR R
W ke sh , AR BT In R i M4 S8R5 ISR £ U e 25 RG24 R
B EEARE AL

3. HIEEH A ARG AR — Il

— R AL 20, BNES .60 5. EENELHHEANETF,RE

—EfFEEBEEXRN.
L BHESM=1{1,3] ,N={1-a,3} , & MUN={1,23} 0 o F{E 2
A -2 B. -1 C.0 D. 1
2. NS E 2 R (1421) 2=3-2i(i MEECAN) W 2 (Y REER Ky
1 8 1. 8.
A — B. — C.—i D. —i
5 5 5 5
3. B a, b, | BIESEZERD Ja,=1,b,=5, H ay, —by, =34, W a,,—b,, FIE R
A -17 B.-15 C.17 D. 15

4. %2021 4E 12 A 2 H” HEFE 202112027 BYRTFRYERAR 2 A3 T A B, 200X RE 1
KEFRAEAE - — 120 FR AT RE T8 2]
A.6 1% B.7 & C.8 & D.9 &

2
5Eﬂm%%%%fﬂwwﬁﬂnﬁ—%ﬁﬁﬁﬁﬁﬁerﬁﬂH%iMﬁmH%%%
a

A2 B.\3

C.\5 D.2

6. — i)l H— 2L AN K I R FR 4. — & 25 B SE 10g # 4, B IR 5
¥ Sg BRER T ROT-ZE B b U — BE B & IOTE OV A 3 (i R P15 B S ik
T CHE R -A 3, PRI — BB 4 A R 22 2 5 RSP o S R YR R A5 1
LTI R SR AS A B 40 mg, WU
A.m>10 B.m=10
C. m<10 D. DL F#ERA ] g

7. E AR RS T A =B ABC-A B, C, BIFTA KK 3, D Itk cc, By s, m
JpkE AA, E—5, H A, M=1,N "} B,C, L—%, H MN//~F1fi ABD 0| NB, 9 H

Al B.2
1

c.o D.
2 2

HEGENPEIL 51 50 (Fk4 00



SMIWHCiﬂﬂ4MEﬁﬁﬁﬁ%ﬁRJD SR F, 1,
J3WESZ AB,CD. 35 AB//CD , JIIAF |1+ CF, | I HUEE D /7>§
A|:£2f:| B{ﬂzf) FIOJ x

B
{8[ 2¢—) D. {8[ 2f] b

9. 45 XAE R _ERE PR /() BTG T 10(2,0) XFAK, IR S Ui A SR AY 12
A f(x)=f(-x) B.f(2+x)+f(2-x)=0
C.f(3)=£(5) D.f(x+2)=f(x-2)

10. * B =iy S o PR H AR R —. V% , P = A0 2 1 025
B Bl UPATER M T R A B AMRY 1,1,2,3,5,8,13, - JUF
ST IE B 1)

ATES 9 R b B2 N 55
B.TES n(n=5) 5RRHE b B8 A 22140 Je i RS )
C.AEH n AR AT
D. 7655 11 5RRER I e KIEUE €

11. 251 a=log,2,b=log, 5,c=lgd , M a,b,c BIR/NFKRN
A. a<b<c B. c<a<b C. c<b<a D. a<e<b

12. E R fEE B A B R BB R 2 — A £ RS T G
PR T, NATTHERE y =[x ], v e R FRNE ek 80, Horb [« | 3R AN « A9 R
Bl [-2.17=-3,[3.1]=3. IEAREL f(x)= [ 2sinx + cosx | +[ sinx+cosx | FE IR N IC
EQIIES A
A.2 B.3 C.4 D.5

ZETH RE4 /J\%ﬂ,ﬁll\%ﬂ5 5,320 57,

13. E%ﬂ@@f( )=« tax’—ax+2a-1 P IAE S 2 -1 U a=

14. A PIBUSTHLIA 5 K/ IMRTE Y TE 7 R85 AN T 43 3 bR A 50 1 2,3,4 5,6, [FlHF 5 M
Hed -, MIPIMC 750 LB - Z PR RE b, 6 BRIty .

15. © 1 a,b 52 F-T A P AR 3 B S ), 4 e e 62 (a—¢) - (b—2¢)= 0,0 Ic|
IS PNIER .

16. CHI = HE P-ABC ', AABC J&i1 (Ko 23 W40 =i JE ,PA=PB=a, H V-1 PAB L
Sl ABC. £ etk P-ABC ByRA LR B T HRRIE 1 ) o=

BEGEMPENR B2 0 (34 )




JRER. L7085 BMENSHXFRMAOIMTEHIRESR. £ 1721 AR

ZR, SMAEE LI IEE, F 22.23 MAEREE, FERFEKRES.

(—)WE. 2 60 53,

17.

18.

19.

(12 41)

TEAABC W i A,B,C FiXH 153 90 a, b, ¢, Hsin®A =sin* B+sin> C+sinBsinC.
(1)3RA A BRN;

(2)#7 a=1,b+Ac FAAERNRAE SR IEEL A BYIUE L

(1241)

mE L AT MEEN S AL, S P,CEHL ], F, S ABERELKL F M,N
e B AB AP RS, H PC=AC=a,PA=\2a. L

(1)IERH ;. PC L 18] ABC
(2) -1 MNC 516 PBC B £l 6(0°<0<90°).
BSOS 2R

@CM:%AB;@AB=ﬁa;@CMJ_AB;@BC LAC.
VR PR T LA E cosO (IS 2514, Ik 2.

(1241)

W24 JEAZEWIZST 20224E2 H 4 HE 2 A 20 HAEFEXAT, Hrokar 385 H 2
A BLE 2 IE R AR H 2 — 2010 4FH7 [E 42 0K a8 A S — IR S N4 22 328 2 vk A
F A AT TR, vKaE LB A 37 an T, Her Ze i (B8R MIN (2200 5 — A&
BRIX 12 80 BT R BR X UV OB DR M B vk e $8 1, (56 vk 1 oK T W5 A7, VKT8 B9 A s
H—RIE R E 2, L3 b oKas i A I S 8 22 X R0 O FRz T ke s Jik 171

M

BRK |

N
RSB BAASA T oK A BRI, LDy -
ORANZEZH3 WK SEfeml M A — U IR AE BIXG 3 70, RIS 2IXCA )
QA F R BRI 0 76 5 A AR OKAE , oK T2 A E R XAG 2 4, RiEE 2 KA
1345
@M 5705 T 3 20 R i s, I 37 B 1k 48,
ORI — ke, AT 3 700 2 S BOBER 415008 0. 1 A1 0. 5, 4% 3 53 Al 2 73 HIME%
G500 0.2 A0, 4, H | ZAFREIRIK AR B4R B AT
(1) 2R i AR 5
(2) B Y AR T ZH9F35r R Y B34 5 5
(3) AR LS RAHT, T S PIAHERY KP4 2

HEGE N PENR 53 T (34 )



20. (12 43)
EHIPREL f(x)= (x—a)Inx(a>0).
(1) 24 a=1 I, BT RE () BRI ;
(2) UEWY R Y f () FEAEdR/ME g (@) , FFSR L BREL g (a) BEROR(HL

21. (12 4%)
B C.y* =2px(p>0) 1 85 R(2,0) 1F x B EL AWML ¢ T ¢, H W45, H
0G LOH( O FHARE ).
(1)K p;
()3 Q2, D EEE—FAE « fiFEE N EL MY C T A, B W5, HLZ AR 35l
WL C TR TS A MY — 5 M, 5% BR 5S¢ TR T 5 B 5 — 5 N. ok

() PR 2 10 4y, RS 22,23 EhEE—TIES. MBEH, WM

=ity

20 [HERE 4-4 8RR 5B EOTE ] (10 41)
AR Z 20y TP C, sqzsﬁm%{

=t o, N ¥ ) 7K
x=tcos (t BBEL0<a<w). DIARFRIE S

y=—1+tsin
B ST B SRR R, C, BRI B =22 cos (07 )
(1)K ¢, WE MBI

(2)C, 5 C, HAZTARFERIM A A, B, LB AB WP S M, S N(0,-1) & ITMN| =2 3R
C, MBHTT T sina MU{A.

23. [ #ef 4-5 AR 5FGEYE] (10 43)
BERREL f(x) = lx—al+|2x+a+1].
(1) a=0 B SRAZER f(x) <21xl+1 IUAREE
(2)#7 a>0, HRTF x BUARTER f(x) <2 G, RIEL o WHUETE .

HEGENPENL 5 4 50 (Fk4 00





